i
I

o

ol
o8

og
Nfo

B
T

op

FLpsolct,

9

A]

ol
‘_._mo

)

ot

i

o

A =golzt

o]
H




2. The TN 1/ /m A W Lx+ 2y ©) S Folelet,

A

Y+10° Y 3x+20°

m
:E-I—40°>/




3. the T-elA AT A4 SHBALS $A ekl 2.9

l

Qe

© FA=ZA 9]tk @ W B A9 9k,
® B AM el . @ 4 Cx A4 gl ek

® ol it



Aol At

oF

—

~
a3

—

NI

e




Tz 245 =

5

7t o] mopzt 27]7)

@ § W) Pol} T zke] 2717} Fol W o}

® Al 7o) 2717 017 1

o7k Fol 4 o

1

N

94

Eg

@ Al

ol






(n—3)

n(n-3)

3

@ 38 ® 44 @ 48 ® 55

@® 33






gto] 720° Q1 tf

Hzte] 27]9)

Nfo

ojn

e
L

xu

B0
P
ol

e
-

N
=1l



&

o] A 7}

o]
1—

s

10.



O

11. b= 334 ¢ A< 1237

ftlo

VY N\
@ 5.0ptAC = 5.0ptDB

@ /AOC = /DOB

® FAE&E COB & #3& AOD 9] Hol=
2,
VR VS
@ 5.0ptCD = 5.0ptAB

© OA = ¥9] Agoltt.



12. o2 1 Zol 4 {1l o} =
o ‘%131].71-0 A B BE]—D]-E
A& B z] e (3%
7ol A —Lo}/‘\j_AB #el Al
ol 50 (ﬂu 3,H,C7}9J\ C
7o 8B 7) .

e
e
Qe




Z¥7t P, Q Bt Sk, AR AP o SHe M

S o) g patolat



@D 10cm

HANL2BM
Z ol
_5eme
A M N B
@ 15cm ® 20cm @ 25cm

® 30cm



15, % 2™”NA 2y 22=3:5:7 QD W, 1y A7]E F5tei




16. o= Z-HI Zo] Al 2ol 4 O oA vha wf, sHEx]ze B
= Agol A71=A F-otozt.




@ za 9k th = S1Zfolnt.

olrt.

® ra %t re =5



R

A1, mol A=

1

NI

[ i
= T

18. tt

105,

115°

60°

120°

130°

120°



19. t}& 9L Zolgo]|TE /CDE = 50° 7} §4] & Aot} /ECB
o] 2717

A C B

_________

@® 55° @ 65° ® 75° @ 85° ® 95°



20. o= 2™ AApAA A 2A 2] BC 9 =
RAeE B 9 QIR

ON K @ 170 ® 270
@ 37K ® 474



© =A2 AB o} Balg wAjale 3 Aol
@ ®A2 AB 9 54 B2 2 Aotk
® W ABCD 9 529l mAE 4 Aolct

@ wAj2] BF 9} DH & A|the B WBFHD o|th.



22. o
Z] o}

1o

Flo ofn
8o

-9 AABCof Higt Aoz
e

r =2 O
S T 29

@ /Bo] 2 AColrt.
@ AB9] tfzk2 /Co|t},
® ACQ| t7}o] 27]+= 40° ]t

@ AB+BC<AC

® ¢Co] o] doj= 3.2cmO|t}.



23. AABCO| gt A9 F A 2 A7

rlo

@® /(B -2 ACo|tt. @ AB9 HZr2 /Co|tt.
® BCO| Wjzt2 /CABO|tt. @ AB>AC +BC

® AC<AB +BC



m_m

%

—_~
__OL

o



25. 3 F 4729 AABC ¢} ADEF 7} A2 S5 o, x +y 32 73}
ofzt.




26. &2 a"T} Zo] LADC =90°, /B =/C ¥ 1], AABD = AACD
WS Hel Aol
7h), (Fh el E012 T= 59 A2

[11]
(2]

A

B [ C

AABD 9} AACD ©f| A

(ADB = (7}), (W) = &%

(BAD = 90° ~ (%) = 90° - .C = (2}
- AABD = AACD (1) &5

@ (7hH: .ADC @ (}): AD ® (t}): B
@ (2h): LCAD ® (7H): SASTS



CE

@ BD

® /BAD = /CAE

@ /CDE = /CAE

® /ABD = /ACE

® /ADB = /AEC



